TECO
IEC Low Voltage Motor

CAST IRON




R UG H E A

RABME L TFII06F - EINFRHNALES, 2T F A LY RA, 25 0H
ANEE~FE LB BF
9'&%5322;%&# N %Eﬂjlﬁiglﬁ N /i»\g]i TECD SnEl
BRBRBIRE S UL RBEAIR > e
AUEMER BN FELHRR LT |
BHFARLE FLRBECHEER
BEELM > EMWNFERHM > AL
YRR EHZ— -

F AR, 619955 F M LB BE RN NG, HTRKREOKE. BRI EALHKME
MALEST A EFEEN ARG E M BRI LGER > Fdk - ZREL -
BPR -~ RE -~ EBNFHTARART - MERBHLGHT - AMThEHET. ALw
WA LEM R F—" A, PR S M RAEE DRI P B, WA R E M
1/4HP%]60, 000HP, & /&+Tk13. 8kVey ®ahat, A F B ahpuay £ 244 57 7.

TR URHA R a RILT2002F47, £ ELHH ~ A7 - HEELEH - X
MBI o N NIEE DAL P, FAFLIE, SAFLI - 2HAL PO HFE
RH¥ &P sty FF & X 3 o FAF 3R & sl F 0 %63~630mm, H 2 %56 B A 1/4~40000P,
R F % 7220~13800V =48 &5 EEHM - SAF I IRey & & A FELE N0, 4kW-375 kW,
e E % AH200~600Vey 38 S -

Contents

Since its founding in 1956, Teco Electric & Machinery Co., Ltd has engaged in the
manufacture of industrial motor at the beginning. After rollercoaster ride for half a century, it
has successfully diversified into a conglomerate with world business operations including
heavy electrical, home alliances, telecommunications equipment, IT system, electromechanical
components, finance investment and food services. TECO, a famous globalize enterprise group,
has about 30 subsidiaries and affiliations across Asia, America and Europe, and the total
employee amount is over tens of thousands.

In motor industry, TECO group has obtained quiet great progress, besides mergered
Westinghouse motor company of USA in 1995. Now there are several manufactories around
the world, such as Texas of USA, Manchester of UK, Sydney of Australia, Singapore,
Malaysia, Indonesia, Thailand, Chung-li and Tan-shui of Taiwan and Wuxi, Suzhou and
Nanchang of mainland China. TECO has been designing and manufacturing products with
our “Quality-First” commitment in mind to meet and exceed international industrial standards,
such as CNS, JIS, BS, IEC, NEMA, IEEE, CSA and UL. Our product line includes low,
medium and high voltage (up to 13,800 volts) premium efficiency and high performance motors,
ranging from 1/4 HP to 100,000 HP.

Wuxi Teco Electric & Machinery Co., Ltd which was founded in April of 2002 is engaged
in research, design, production and sale several kinds of motors and inverters. We set up
global research & development center, FA division and SA division. The global research &
development center is in charge of researching and designing the important and new rage
productions. FA division produces the 3-phase asynchronous motors whose shaft center
height are from 63mm to 630mm, ranging from 1/4 HP to 4000HP and the voltage are
220V to 13800V. SA division produces the inverters with the ranging of

0.4kw to 37bkw and the voltage between 200V and 600V.




FORE

® HiEHE: 380V

® HiEMIR: 50Hz

® [T 0.18~315kW

o [ 1F il ELTIEHI--SI (S.F. 1.0)

® . & 5 80M~355L

® [5I 554 P55
wEIT = 1C411
Y45y Pl 4%,
W T RNEEE80K (2,4P F#315L2, F#355 ikt 105K)
2251750 AEEVERSIHIMB3; AEEVLCASHIMB3S; AEUVAYHIMBS
AEEVRY BN SERI 228 R IR 1R1ER2
AEEVLCRAY BN S ERN 2225 R~ R 1IR3
AEUV RSN SERI L2 R IR 1R 12R4

Technical data

Rated voltage: 380V

Rated frequency: 50Hz

Output range: 0.18~315kW

Time duty: Continous S1 (S.F 1.0)

Frame Nos.: 80M~355L

Protection enclosure: Totally enclosed (1P55)

Cooling method: Self external fan, Surface cooling (1C411)

Stator insulation: Class F insulation system

Temperature rise: Not to exceed 80K (2,4P F#:315L 2, F#:355 not to exceed 105K )by
resistance method

Mounting: AEEV seriesIMB3, AEEVLC series IMB35, AEUV series IMBE

For typical performance and dimensions of AEEV series motors see table 1 and table z

For typical performance and dimensions of AEUV series motors see table 1 and table 4

i S

® HUFES HEIIRE10% DU, BRI B3R 5% DA
LRGN BERE10%LL N (HAITRI B5RAE £5%LL A

o (AT A1 - LRl SURMEE

® IMEEHE: -15~40TC

® IMEHILSE: FHNHEEI0RLL N (HAREEESS

® S YEH1000mEL

o LEl = RO AL ol (H A ASKWARTIAR: 160KW Kz LA FA{d FH 2 Bl 2% 1)

® [iEL HIh): AR HERS.
HHEAHT 5 H i LS S bR s T k5T T e b e & ) I s 4
JITEIfEss .

o n = B EEELAEY- ALD)

For typical performance and dimensions of AEEVLC series motors see table 1 and table &



Application
@ Power source conditions: Rate of voltage variation between +10%, Rate of frequency
variation between £5%. Rate of voltage and frequency variation
between £10%,but frequency variation does not exceed +5%
Place: Shadow,Non-hazardous
Ambient temperature: -15~40C
Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Lessthan 1,000 meters
Drive method: Belt service, However 2 pole 45kW & above, 4 pole 160kW & above for
direct coupling only
Direction of rotation: Bi-directional rotation
Clockwise when facing the drive end side and the al phabetical sequence of the terminal letters
of a phase group corresponds with the time sequence of the terminal voltages
® Method of starting: Full voltage direct on line or Y-A starting

AEEV ~ AEEVALF=AEUV & 7| ¥, sh 445 &,
@ AEEV, AEEVLC, AEUV & % &, sh HL =& 41
st B KT 3w I & 8 S
o H4WhRERTEEE5Y247]—
0 HNEZ/AKAI BN E
® IPOOmrar 4, B, KRR, HAE
FR AT, B2 i%ﬁr‘ﬂi _
° mﬁﬁ AP RB%E, B &, SLe 4
Bk FHa K, EE SRR T LA
) @zﬂﬁz\nmﬂﬁzﬂ%ﬁa, BAZELM Z
AR, AR B BARRE.
@ HiuAibeyikit ~ tRA M - ity
MIEXENTEORERIERR, FF - RORNAER TR TY2” &, XL ERNAKE
2 RN EEAR S AT I

® These developed product, rage AEEV ~ AEEVAL and AEUV, are directly target at mainland
China market.
The shape and nstallation size are the same as the rage Y2 totally.
The efficiency 1s accord with EUII .
The protection enclosure 1s IP55, protect dust, water and oil, which 1s accord to international
standards and safety safeguarded further.
® The stator insulation 1s class F of TECO insulation system with good heatproof quality,
strong resistance to electrical sparks, long insulation life and can be competent in the
bad environment.
These rages use bearing imported from famous brand company and the silicon steel sheet
are come from famous national steel company.
Standardized design, high quality material, advanced processing equipment and
consummation quality guarantee system, all of these can make sure the internal quality
of there rages are more high than rage Y2 and it 1s embody 1n the high efficiency, low
vibrate and reliable safety.



721 Table 1
LTaR S LV E S IR SSE SERTD L3Rl B | s

Output gf; #l | EFF. | PFE Current Torque me | Noise | i | me
=B T | o o - - Sound |Vibration| Approx

Full oo | mEE ) weEk | Rk | BERE | WAk | BERR | ER 4 ,
kw | up | Load F? Full | Full | Full |Locked| Full |Locked| Pull lé%(; Ii\fod Speed |Weight

rpm | M€ | Load | Load | Load | Rotor [ Load | Rotor | Out od

% | % | a | A |kem |grFur|%FLT|kem2| dB@) | mmiec] ke

0.18 0.25 685 80M 59.0 65 0.71 3.3 0.256 180 190 0.008 52 1.8 16

0.25 0.33 690 80M 60.0 63 1 3.3 0.353 180 200 0.01 52 1.8 17

037 0.5 910 80M 63.0 73.5 1.21 4.7 0.396 190 200 0.007 54 1.8 15

695 90S 67.0 63.5 1.32 4 0.518 180 200 0.016 56 1.8 24

1400 80M 73.0 78 1.47 ) 0.382 240 230 0.006 58 1.8 15

0.55 0.75 910 80M 65.0 69.5 1.85 4.7 0.588 190 210 0.009 54 1.8 16

690 90L 68.0 64 1.92 4 0.776 180 200 0.02 56 1.8 26

2855 80M 78.3 85.5 1.7 6.1 0.256 220 230 0.003 67 1.8 15

075 1 1395 80M 75.4 78.5 1.93 6 0.523 230 230 0.007 58 1.8 16

930 90S 73.2 72 2.16 5.6 0.785 210 210 0.015 57 1.8 24

700 100L 72.5 65 242 4 1.043 180 220 0.026 59 1.8 33

2845 80M 79.6 87 241 7 0.376 220 230 0.004 67 1.8 16

11 15 1395 90S 76.2 80 2.74 6 0.767 230 230 0.009 61 1.8 22

930 90L 75.2 70.5 3.15 5.6 1.151 210 220 0.021 57 1.8 27

690 100L 73.0 70 3.27 5 1.551 180 200 0.034 59 1.8 34

2840 90S 79.7 87 3.20 7 0.514 220 230 0.006 72 1.8 22

15 ) 1400 90L 79.0 80 3.61 6 1.043 230 230 0.013 61 1.8 27

935 100L 78.0 76.5 3.82 6.4 1.561 210 220 0.037 61 1.8 36

700 112M 75.6 69.5 4.34 5 2.085 180 230 0.058 61 1.8 39

2840 90L 81.8 87.5 4.67 7 0.754 220 240 0.008 72 1.8 25

29 3 1420 100L 81.1 83.5 4.94 7 1.507 230 240 0.024 64 1.8 34

945 112M 81.8 76 5.38 6.4 2.265 210 220 0.068 64 1.8 43

710 1328 78.0 72 5.95 6 3.015 180 220 0.121 64 1.8 62

2870 100L 83.5 89.5 6.1 7.5 1.017 220 230 0.013 76 1.8 33

3 4 1420 100L 82.6 84 6.57 7 2.056 230 250 0.032 64 1.8 35

965 1328 82.0 76 7.31 6.5 3.025 210 260 0.121 69 1.8 56

710 | 132M [ 8038 76 7.42 6 4111 | 180 | 210 | o164 [ 64 1.8 66

2880 112M 85.7 92 7.1 7.5 1.351 220 240 0.024 77 1.8 40

4 55 1435 112M 84.7 83 8.64 7 2.712 230 250 0.052 65 1.8 44

965 132M 83.5 71.5 9.39 6.5 4.033 210 260 0.164 69 1.8 71

720 160M 82.3 73 10.1 6 5.406 190 230 0.265 68 2.8 94

2015 1328 87.0 90.5 10.6 7.5 1.836 220 270 0.047 80 1.8 59

55 75 1440 1328 80.5 84.5 11.4 7 3.716 230 290 0.106 71 1.8 61

965 132M 84.6 79.5 124 6.5 5.546 210 260 0.221 69 1.8 75

720 160M 84.5 73.5 13.5 6 7.433 200 240 0.374 68 2.8 106

2905 1328 87.3 91.5 14.3 7.5 2.512 220 250 0.054 80 1.8 62

s | o [aso | vam | g76 75 173 | 72 | 5033 | 240 | 340 | o146 | 71 1.8 73
970 160M 86.0 74 17.9 6.5 7.523 200 290 0.374 73 2.8 108

720 160L 85.5 75.5 17.7 6 10.14 200 240 0.53 68 2.8 128

2035 160M 88.8 90.5 20.8 7.5 3.647 220 260 0.167 86 2.8 107

1 5 1460 160M 88.5 85.5 22.1 7 7.331 220 2.9 0.332 75 2.8 113
970 160L 87.8 77 24.7 6.5 11.03 200 280 0.53 73 2.8 131

720 180L 87.5 76 25.1 6.6 14.76 200 220 0.864 70 2.8 170

2935 160M 89.8 91 279 7.5 4.973 220 260 0.204 86 2.8 117

15 20 1465 160L 90.3 85.5 29.5 7.5 9.962 220 310 0.442 75 2.8 133
975 180L 89.5 82 31.1 7 14.97 200 250 0.89 73 2.8 171

730 200L 89.1 75.5 339 6.6 19.99 200 230 1.456 73 2.8 220

2035 160L 91.1 92 33.5 7.5 6.133 220 270 0.255 86 2.8 134

185 25 1470 180M 90.7 86 36 7.5 12.25 220 260 0.607 76 2.8 167
980 200L 90.1 83 37.6 7 18.37 210 240 1.331 76 2.8 216

730 2258 90.1 75.5 41.3 6.6 24.66 190 230 2.18 73 2.8 270

2950 180M 90.6 92 40.1 7.5 7.256 200 260 0.348 89 2.8 169

» 30 1470 180L 91.5 86 42.5 7.5 14.56 220 270 0.679 76 2.8 181
975 200L 90.6 84.5 43.7 7 21.95 210 230 1.539 76 2.8 225

730 225M 90.6 71.5 47.6 6.6 29.32 190 220 2.588 73 2.8 295




s

Table 1 (continued)

Lo - LUE S BP)E SSE R L2 S ey | s
Output g% . EFF. P.F. Current Torque e | Noise | #E5) | &8
rol | M [ | | | s | e | s | ok Sound | Vibration ApPoxX
ww | wp | Load | 7 | Ful | Rl | Ful |Locked| Full |Locked| Pul Rotor | No- | Speed | Weight
rpm | M€ | Load | Load | Load | Rotor [ Load | Rotor | Out GD2 | Load
% % A A kg-m %FLT %FLT kg-m2 dB(A) mm/sec kg
2950 200L 914 91.5 54.5 7.5 9.895 200 230 0.558 92 2.8 220
30 40 1475 200L 92.0 87 56.9 7.2 19.79 220 260 1111 79 2.8 232
985 225M 91.8 82.5 60.2 7 29.63 200 220 2.452 76 2.8 286
735 250M 90.8 78.5 63.9 6.6 39.71 190 240 3.938 75 3.5 370
2950 200L 92.1 92 66.3 7.5 12.2 200 240 0.68 92 2.8 239
37 50 1480 2258 92.7 87.5 69.3 7.2 24.33 220 230 1.911 81 2.8 287
980 250M 92.0 87.5 69.8 7 36.74 210 250 3.741 78 3.5 380
735 2808 91.5 80.5 76.3 6.6 43.98 190 210 6.333 76 3.5 475
2960 225M 92.7 91.5 80.6 7.5 14.79 200 240 0.977 92 2.8 297
1480 225M 93.3 87.5 83.7 7.2 29.58 220 250 2.335 81 2.8 322
45 60 985 280S 92.5 87.5 84.5 7 44.45 210 250 5.985 80 3.5 465
740 280M 92.0 79.5 93.5 6.6 59.17 190 230 7.813 76 3.5 555
590 3158 92.0 76 97.8 6 74.21 150 200 1591 82 3.5 890
2970 250M 93.0 91 99 7.5 18.02 200 240 1.397 93 3.5 380
1480 250M 93.3 87.5 102 7.2 36.16 220 230 2.755 83 3.5 385
55 75 985 280M 92.8 88 102 7 54.33 210 250 7.149 80 3.5 540
740 3158 92.8 82 110 6.6 72.32 180 210 15.946 82 3.5 905
590 315M 92.5 75 120 6 90.7 150 200 19.373 82 3.5 965
2975 280S 93.6 92 132 7.5 24.53 200 240 2.268 94 3.5 510
1485 280S 93.6 88.5 138 7.2 49.14 220 230 5.123 86 3.5 510
75 100 990 3158 93.5 86 142 7 73.71 200 220 14.433 85 3.5 861
740 315M 93.5 82.5 148 6.6 98.61 180 210 21.794 82 3.5 981
590 315L 93.0 76.5 160 6 123.7 150 200 25.946 82 3.5 1040
2975 280M 94.1 92.5 157 7.5 29.44 200 240 2.636 94 3.5 540
1485 280M 04.4 88 165 7.2 58.97 220 260 6.433 86 3.5 600
90 125 990 315M 93.9 86.5 168 7 88.45 200 230 17.084 85 3.5 940
740 315L 93.8 82.5 177 6.6 117.5 180 220 25.946 82 3.5 1070
590 315L 93.3 76.5 192 6 148.4 150 200 30.433 82 3.5 1130
2980 3158 94.4 92 192 7.1 35.92 180 250 5.89 96 3.5 920
1485 3158 94.7 89.5 197 6.9 72.07 210 220 12412 93 3.5 930
110 150 990 315L 94.3 87 204 6.7 108.1 200 220 21.208 85 3.5 1110
740 315L 94.1 81.5 218 6.4 144.6 180 210 30.433 82 3.5 1160
590 355M 934 79 227 6 1814 130 200 44.226 90 3.5 1620
2980 315M 94.8 92.5 229 7.1 43.1 180 240 6.597 96 3.5 970
1485 315M 94.8 89.5 236 6.9 86.49 210 220 13.963 93 3.5 1010
132 180 990 315L 94.7 87 243 6.7 129.7 200 230 24.448 85 3.5 1175
740 355M 94.4 81.5 261 6.4 173.6 180 200 46.553 90 3.5 1700
590 355M 93.6 78 275 6 217.7 130 200 52.955 90 3.5 1730
2075 315L 95.0 93 275 7.1 51.79 180 220 7.421 99 3.5 1080
1485 315L 95.0 90 284 6.9 104.8 210 230 16.401 97 3.5 1070
160 215 990 355M 94.9 89 288 6.7 157.3 190 230 35.024 92 3.5 1620
740 | 355M | 047 82.5 311 64 | 2104 | 180 | 200 | 52955 | 90 35 1730
590 355L 93.7 78.5 330 6 263.9 130 200 65.175 90 3.5 1970
2975 315L 95.0 92.5 346 7.1 65.41 180 220 8.482 99 3.5 1170
200 270 1485 315L 95.2 90 355 6.9 131 210 220 19.282 97 3.5 1170
990 355M 95.0 89 359 6.7 196.6 190 230 41.65 92 3.5 1730
740 355L 94.8 82.5 389 6.4 263 180 200 65.175 90 3.5 1970
2980 355M 95.3 93 429 7.1 81.63 160 230 13.608 103 3.5 1690
250 340 1490 355M 95.5 91 437 6.9 163.3 210 220 31.752 101 3.5 1720
990 355L 95.0 89.5 447 6.7 245.7 190 230 53.01 92 3.5 1820
315 490 2980 355L 95.6 93.5 535 7.1 102.9 160 230 16.429 103 3.5 1860
1490 355L 95.8 91.5 546 6.9 205.7 210 220 39.311 101 3.5 1870




AEEV RS AR5

EERIME Je B RT 1] (224 75 2 IMB3)

AT L L
KX
E o —
=2 : ;
o -]
e ——
Cl B | | B
EB BEH
Bl FIG.1 FIG.2
%2 Table 2 #{i:mm Dimensions in mm
TR Output (KW) s | BS " . A 5 - . " A . N . . 5% Shaft Extension 7K Bearings
2p 4p 6P 8P 10P Fﬁ: ¢ };\IIS A D E ED | EF F G GA DH Yt DE | JE9NEE ODE
075 | 055 | 037 | 018 = 30M1 1 125 34 160 | 155 100 | 130 5015 80° [ 10 225 | 10| M20x15 284 190600 [402031 | 32 | 4 | 6 0o | 155 %o | 215 | M6xI12 620477 620472
11 | 075 | 055 | 025 = S0M2 1 125 34 160 | 155 100 | 130 5015 80°,[ 10 225 | 10| M20%1.5 284 19000 [402031 | 32 | 4 | 6%, | 155 %, | 215 | MéxI2 620427 620427
15 11 | 075 | 037 - 90S 1 140 36 180 | 175 | 100 | 140 5615 90, [ 12 245 | 10 | M20x1.5 319 24 000 [50£031 | 40 | 5 8% e | 20 % | 27 | MBxI6 620572 620572
22 15 11 | 055 - 90L 1 140 36 180 | 175 | 125 | 165 S6+15 90, [ 12 245 | 10 | M20x1.5 344 24 00 [ 50+031 | 40 | 5 8% e | 200, | 27 | M8xI6 620572 620572
22 0.75 = T00L1 2 160 40 200 | 195 | 140 | 160 63+15 100, 14 260 | 125 M20x15 369 28 7409 | 60£037 | 50 | 5 8% e | 24, | 31 | MI0x20 | 620627 620672
3 3 13 11 = 100L2 2 160 40 200 | 195 140 | 160 63£15 100°,[ 14 269 | 12 %] M20x15 369 28 1009 [ 602037 | 50 | 5 80 e | 24 % | 31 | MI0x20 | 620627 620677
7 q 22 15 - 112M 2 190 45 226 | 219 | 140 | 180 70£15 2, [ 15 302 | 127 M25%15 308 28 000 [ 602037 | 50 | 5 80 e | 24 % | 31 | MI0x20 | 620627 620677
55 s ; - = 13251 2 | 216 55 262 | 260 | 140 | 186 89+ 15 327, [ 18 322 | 1277 M25x15 462 38 008 | 802037 | 70 | 5 | 10 %0 | 33 'os | 41 | MiI224 | 620822 620872
75 : - = 13252 2 | 216 55 262 | 260 | 140 | 186 89+ 15 32°,] 18 342 | 127 M25x15 462 38 008 | 802037 | 70 | 5 | 10 %0 | 33 'aw | 41 | MiI224 | 62082 620872
- ! - 132M1 2 | 216 55 262 | 260 | 178 | 224 89+ 15 320, 18 342 | 1200 M25x15 500 38 008 | 802037 | 70 | 5 | 10 %0 | 33 ow | 21 | MiI224 | 620822 620872
- 75 55 3 - 132M2 2 | 216 55 262 | 260 | 178 | 224 8915 132° [ 18 342 | 120 M25x15 500 38 1008 [ 802037 | 70 | 5 | 10 0 | 33 0w | 41 | MI2x24 | 620872Z 620827
11 4 - 160M1 3 | 254 65 320 | 314 | 210 | 260 108 3.0 160 °,| 20 408 [14.5 75| MB32x15 611 2008 (1102043 100 | 5 | 12 %0 | 37 ow | 45 | MI6x32 | 62092Z 620977
15 1 75 55 - 160M2 3 | 254 65 320 | 314 | 210 | 260 108 3.0 160°, [ 20 408 [14.5 .75 M32x15 611 42 008 [1102043] 100 | 5 | 12 %0 | 37 'ow | 45 | MI6x32 | 620972 620972
185 15 11 75 - T60L 3 | 254 65 320 | 314 | 254 | 304 108+3.0 160°,| 20 408|145 :°5 |  MB32x15 655 20008 [1102043] 100 | 5 | 12 %0, | 37 aw | 45 | MI6x32 | 620922 620972
2 - = = = 180M 3 | 279 70 355 | 355 | 241 | 311 121£3.0 180°, [ 22 448 [145 %8| MB32x15 690 48 oy [110+043] 100 [ 5 |14, | 4257, [ 515 | Miex32 | 6311zzC3 | 631122C3
= 185 = = = 180M 3 | 2 70 355 | 355 | 241 | 311 121£3.0 180°, [ 22 443 [14.5 75 MB32x15 690 48 008 1102043 100 | 5 | 14 %0, | 425 0 | 515 | MI6x32 | 63112Z 631122
= 22 15 11 = 180L 3 | 29 70 355 | 355 | 279 | 349 121+3.0 180, 22 443 145 .75 M32x15 728 48 008 [110=043] 100 | 5 | 14, | 425 %, | 515 | Mi6x32 | 631122 631172
30 - - - - 200L1 3 | 318 70 395 | 410 | 305 | 369 133+3.0 200°,] 25 504 [185 7| M50%15 782 55 000 | 110£043| 100 | 5 | 160, | 49 %y | 59 | M20x40 | 6312C3 6312C3
37 - - - - 20012 3 | 318 70 395 | 410 | 305 | 369 133£3.0 200°,| 25 504 [185 7| M50%15 782 55 1 110£043] 100 | 5 | 1600 | 49 % | 59 | M20x40 | 6312C3 6312C3
- 185 — 200L1 3 | 318 70 395 | 410 | 305 | 369 133£3.0 2007, 25 504 185 02| M50x1.5 782 55 000 [110£043] 100 | 5 | 16 %0 | 49 %0s | 59 | M20x40 6312 6312
- 30 22 15 - 20012 3 | 318 70 395 | 410 | 305 | 369 133£3.0 200°,] 25 504 [185 7| M50x1.5 782 55 000 [110£043] 100 | 5 | 1600 | 49 %0s | 59 | M20x40 6312 6312
= 37 = 185 = 2258 3 | 356 75 431 | 446 | 286 | 369 149+ 4.0 25| 28 553 [185 7| M50x1.5 324 60 1051 [ 1402050] 125 | 7.5 | 18 %0 | 53 Cas | 64 | M20x40 6313 6313
45 = = = = 225M 3 | 356 75 431 | 446 | 311 | 400 149+ 4.0 25| 28 553 [185 7| M50%15 319 55 000 [1102043] 100 | 5 | 16 %0 | 49 %0s | 59 | M20x40 | 6313C3 6313C3
- 45 30 22 - 225M 3 | 356 75 431 | 446 | 311 | 400 149+ 4.0 250 | 28 553 [18.5 7|  M50%15 349 60 1 140 £050| 125 | 75 | 18 %0 | 53 %uw | 64 | M20x40 6313 6313
55 — — - - 250M 3 | 406 80 490 | 485 | 349 | 445 168+ 4.0 2507, [ 30 609 | 24 2| M63x15 931 60 1405050 125 | 75 | 18 %0 | 53 ‘0w | 64 | M20x40 | 6314C3 6314C3
- 55 37 30 - 250M 3 | 406 80 490 | 485 | 349 | 445 168+ 4.0 250°,] 30 609 | 24,7 | M63x15 931 60 10010 | 1402050 125 | 75 | 18 %ous | 53 ors | 64 | M20x40 6314 6314
75 = = = = 280S 3 | 457 85 542 | 547 | 368 | 485 190+ 4.0 280", [ 35 668 | 24,7 | M63x15 981 65 000 [ 1402050] 125 | 7.5 | 18 %0 | 58 "as | 69 | M20x40 | 6314C3 6314C3
= 75 45 37 = 280S 3 | 457 85 542 | 547 | 368 | 485 190+ 4.0 280°,| 35 668 | 24 7| M63x15 10045 | 75 1 140 £0.50| 125 | 75 | 20 %0 | 67.5 s | 79 | M20x40 6317 6317
90 = = = = 280M 3 | 457 85 542 | 547 | 419 | 536 190+ 4.0 280, [ 35 668 | 24 2| M63x15 10325 | 651 1405050 125 | 75 | 18 0 | 58 ‘0w | 69 | M20x40 | 6314C3 6314C3
= 90 55 45 = 280M 3 | 457 85 542 | 547 | 419 | 536 190= 4.0 280, 35 668 | 24 7| M63x15 10555 | 75 400 |1402050] 125 | 7.5 | 20 %0 | 675 %0s | 79 | M20x40 6317 6317
110 - - - — 3158 4 | 508 | 120 | 630 | 620 | 406 | 570 216+ 4.0 350 | 45 875 | 28,7 | M63x15 1185 65 000 [ 1402050] 125 | 7.5 | 18 %0 | 58 "as | 69 | M20x40 | 6317C3 6317C3
- 110 75 55 45 3158 4 | 508 | 120 | 630 | 620 | 406 | 570 216+4.0 350 45 875 | 28,7 | M63x15 1215 80 000 |170£0.50] 160 | 5 | 22000 | 71 % | 85 | M20x40 | NU3I9C3 6319
132 - - - - 315M 4 | 508 | 120 | 630 | 620 | 457 | 680 216+4.0 3150, 45 875 | 28 7| M63x15 1295 65 1 140£050] 125 | 75 | 18 0 | 58 %us | 69 | M20x40 | 6317C3 6317C3
- 132 90 75 55 315M 4 | 508 | 120 | 630 | 620 | 457 | 680 216+ 4.0 350, 45 875 | 28 2| M63x15 1325 80 000 [170£050] 160 | 5 | 220, | 71 %aw | 85 | M20x40 | NU319C3 6319
160 — - - - 315L1 4 | 508 | 120 | 630 | 620 | 508 | 680 216+ 4.0 3150 | 45 875 | 287 | M63x15 1295 65 000 1402050 125 | 7.5 | 18 %0 | 58 'or | 69 | M20x40 | 6317C3 6317C3
200 - - - - 31512 4 | 508 | 120 | 630 | 620 | 508 | 680 216+ 4.0 350 | 45 875 | 28,7 | M63x15 1295 65 000 | 1402050] 125 | 7.5 | 18 %0n | 58 "as | 69 | M20x40 | 6317C3 6317C3
- 160 | 110 90 75 31501 4 | 508 | 120 | 630 | 620 | 508 | 680 216+4.0 350, | 45 875 | 28,7 | M63x15 1325 80 00 |170£0.50] 160 | 5 | 2200, | 71 % | 85 | M20x40 | NU3I9C3 6319
- 200 | 132 | 110 90 31502 4 | 508 | 120 | 630 | 620 | 508 | 680 216+ 4.0 3150, | 45 875 | 28 7| M63x15 1325 80 | 170£050] 160 | 5 | 22 %00 | 71 %m | 85 | M20x40 | NU3I9C3 6319
250 = = = = 355M 4 | 610 | 116 | 730 | 710 | 560 | 750 254= 4.0 3550, 52 | 1005 | 28:°%| M75x15 1500 75 000 [140£050| 125 | 7.5 | 20 0 | 675 "on | 795 | M20x40 | 6319C3 6319C3
= 250 = = = 355M 4 | 610 | 116 | 730 | 710 | 560 | 750 254= 4.0 3550, 52 | 1005 | 28:°7| M75x15 1530 95 1905 | 1702050 160 | 5 | 25 %0m | 86 '0r | 100 | M24x48 | NU322C3 6322
= = 160 | 132 | 110 | 355Ml 4 | 610 | 116 | 730 | 710 | 560 | 750 254+ 4.0 3550 | 52 | 1005 | 28,°V| M75x15 1530 95 1005 [ 1702050] 160 | 5 | 25 %o | 86 'or | 100 | M24x48 | NU322C3 6322
= = 200 | 160 | 132 | 355M2 | 4 | 610 | 116 | 730 | 710 | 560 | 750 254+ 4.0 3550 | 52 | 1005 | 28 ;%% M75x15 1530 95 1 170£050] 160 | 5 | 25 %0 | 86 % | 100 | M24x48 | NU322C3 6322
315 = = = = 3551 4 | 610 | 116 | 730 | 710 | 630 | 750 254= 4.0 3550 [ 52 | 1005 | 28 ;2| M75%15 1500 75 1 1402050 125 | 7.5 | 20 0 | 67.5 '0n | 795 | M20x40 | 6319C3 6319C3
= 305 | 250 | 200 | 160 3551 4 | 610 | 116 | 730 | 710 | 630 | 750 254= 4.0 3550, 52 | 1005 | 28:°%| M75x15 1530 95 1005 1702050 160 | 5 | 25 %0m | 86 '0r | 100 | M24x48 | NU322C3 6322




AEEVLCRYI=AH

>=

T

BBIME S e RGT IRl (22272 IMB35)

T c| | BEE
K1 FIG.1 K2 FIG.2 A3 FIG.3 ¥4  FIG.4
2%3 Table 3 #{\:mm Dimensions in mm
EiHTIEE Output (kW) WS | s il Shaft Extension M7 Bearings
Frame |[FIG.| A AA | AB | AC B BB C H HA | HD K KK L LA M N P S T
» | 4| 6P| 8P| 1P| No | o D E e | EF| F G GA | DH | Hizh DE | JE%iEhi ODE
075 | 055 | 037 | 048 | - | 80M1 | 1 | 125 | 34 | 160 | 155 | 100 | 130 | 50=15 | 80 5. 10 | 225 | 10 0| M20x15 | 284 | 12 | 165 | 130 | 200 | 4012 | 35 | 19 3% | 40£031 | 82 | 4 | 6 80| 155 0m | 215 | M6x12 | 620427 620427
11 | 075 [ 055 | 0.25 = 80M2 1 125 34 160 | 155 | 100 | 130 | 50+ 15 80 9.| 10 225 10 *9% [ M20x15 | 284 12 165 [ 130 | 200 | 4-®12 | 35 | 197398 | 40+031 | 32 4 6 fuw | 155 01 | 205 | M6x12 620422 620427
15 11 ] 075 | 037 -- 90S 1 140 36 180 | 175 | 100 | 140 | 56+ 15 90 5.] 12 245 10+ [ M20x15 [ 319 12 165 | 130 [ 200 [ 4-012 | 35 | 24555 [ 50+031 | 40 5 8 Doz 20 0 27 M8x16 620522 620522
2.2 15 11 | 055 - 90L 1 140 36 180 | 175 [ 125 [ 165 [ 56+15 [ 90 § | 12 | 245 [ 10+%*| M20x15 | 344 12 165 | 130 [ 200 [ 4-®12 | 35 | 247505 [ 50+031 | 40 5 8 Doz 20 22 27 M8x16 620522 620527
3 22 15 0.75 = 100L1 1 160 40 200 | 195 | 140 | 176 | 63+15 | 100 §.| 14 | 269 [ 12*}*| M20x15 | 369 15 215 | 180 | 250 | 4-@145| 4 28 *0% | 60+£0.37 | 50 B 8 Hoss 24 B 31 M10x20 620622 620627
3 ) 11 = 100L2 1 160 40 200 | 195 | 140 | 176 | 63+15 | 100 0. | 14 | 269 | 12*}*| M20x15 | 369 15 215 | 180 | 250 | 4-®145| 4 28 103 | 60+£0.37 | 50 5 8 Joss 24 9 31 M10x20 620622 620627
4 4 22 15 - 112M 1 190 45 226 | 219 | 140 | 180 [ 70+15 | 112 8| 15 302 12404 M25x15 [ 398 15 215 | 180 | 250 | 4-0145| 4 28 7009 | 60+ 0.37 50 5 8 Duss 24 0 31 M10x20 620622 620622
55 | .o | 5 | 2 |—_| 232SL | 1 | 216 | 5 | 262 | 260 | 140 | 186 | 89+15 [132 5. 18 | 342 | 12 0“| M25x15 | 462 | 16 | 265 | 230 | 300 |4-b145| 4 | 38:4% | 80£037 | 70 | 5 | 10 G | 33 0n | 41 | MI2x24 | G62082Z 620822
{7:5) - 13282 1 216 55 262 | 260 [ 140 [ 186 | 89+15 [ 132 § | 18 | 342 [ 12+9*| M25x15 | 462 16 265 | 230 [ 300 |4-®145| 4 38100 | 80037 [ 70 5 | 10 §os 33 00 41 M12x24 620822 620822
- 75 4 3 -- 132M1 1 216 55 262 | 260 | 178 | 224 | 89+15 | 132 §.| 18 | 342 | 12*}*| M25x15 | 500 16 265 | 230 [ 300 |4-®145| 4 38106 | 80+0.37 | 70 5 | 10 §os 33 .00 41 M12x24 6208272 620827
- 55 -- 132M2 1 216 55 262 | 260 | 178 | 224 | 89+15 | 132 0. | 18 | 342 [ 12*%*| M25x15 | 500 16 265 | 230 [ 300 |4-®145| 4 381085 | 80+0.37 | 70 5 | 10 Jo5 33 8 41 M12x24 6208272 620827
11 4 - 160M1 2 254 65 314 | 314 | 210 | 260 | 108+3.0 [ 160 5.| 20 | 408 |145*9%| M32x15 | 611 16 300 | 250 | 350 [4-#185| 5 42 390% [ 110+ 0.43| 100 5 12 9043 37 0w 45 M16x32 6209272 620927
15 1 5 5.5 - 160M2 2 254 65 314 | 314 | 210 | 260 | 108+3.0 | 160 §.| 20 | 408 |145*%*| M32x15 | 611 16 300 [ 250 | 350 | 4-#185| 5 42 558 [110+0.43| 100 5 | 12 Huus 37 0 45 M16x32 620922 620922
18.5 15 11 75 - 160L 2 254 65 314 | 314 | 254 | 304 | 108+3.0 | 160 §.| 20 | 408 |145*%*| M32x15 | 655 16 300 | 250 [ 350 |4-®185| 5 42 1508 | 110+ 0.43| 100 5 | 12 Hos 37 820 45 M16x32 6209272 620927
22 -- -- -- -- 180M 2 279 70 355 | 355 | 241 | 311 | 121+30 | 180 §.| 22 | 448 |145*9*| M32x15 | 690 16 300 [ 250 | 350 | 4-9185| 5 48 1008 [ 110+ 0.43| 100 5 | 14 9013 | 425 05 | 515 | M16x32 | 6311ZZC3 631177C3
= 185 = = = 180M 2 279 70 355 | 355 | 241 | 311 | 121+30 [ 180 §.| 22 | 448 |145*9*| M32x15 | 690 16 300 | 250 | 350 [4-9185| 5 48 1098 [ 110+ 0.43| 100 5 14 9445 | 425 9, | 515 | M16x32 631127 631127
= 22 15 11 = 180L 2 279 70 355 | 355 | 279 | 349 | 121+3.0 | 180 §.| 22 | 448 |145%%%| M32x15 | 728 16 300 [ 250 | 350 | 4-®#185| 5 48 1% | 110+ 0.43| 100 5 14 043 | 425 9 | 515 | M16x32 6311272 631127
30 - - - - 200L1 2 318 70 388 | 398 [ 305 [ 369 | 133+3.0 [ 200 § | 25 | 504 [185*%%| M50x15 [ 782 17 350 | 300 [ 400 |4-®185| 5 55 1065 | 110+ 0.43[ 100 5 | 16 Hos 49 {20 59 M20x40 6312C3 6312C3
37 - -- - - 200L2 2 318 70 388 | 398 | 305 | 369 | 133£3.0 | 200 §.| 25 | 504 |185*Q%| M50x15 | 782 17 350 | 300 [ 400 |4-®185| 5 55 1364 | 110+ 0.43| 100 5 | 16 Hos 49 20 59 M20x40 6312C3 6312C3
- 185 -- 200L1 2 318 70 388 | 398 | 305 | 369 | 133+3.0 | 200 §.| 25 | 504 |185 *9%| M50x15 | 782 17 350 [ 300 | 400 | 4-®185| 5 55 1089 | 110+ 0.43| 100 5 | 16 Jois 49 8 59 M20x40 6312 6312
-- % 22 5 -- 200L2 2 318 70 388 | 398 | 305 | 369 | 133+3.0 | 200 §.| 25 504 |185 *9%2| M50x15 | 782 17 350 | 300 | 400 [4-#185| 5 55 100 | 110+ 0.43| 100 5 16 9043 49 9 59 M20x40 6312 6312
= 37 = 18.5 = 2255 3 356 75 431 | 446 | 286 | 375 | 149+4.0 | 225 §.| 28 | 553 |185*%°?| M50x15 | 824 20 400 | 350 [ 450 | 8-9185| 5 60 3000 |140+0.50| 125 | 7.5 | 18 §ou3 53 2 64 | M20x40 6313 6313
45 - == - - 225M 3 356 75 431 | 446 | 311 | 400 | 149+4.0 | 225 §.| 28 | 553 |185*%"”| M50x15 | 819 20 400 | 350 | 450 |8-9#185| 5 55 1065 | 110+ 0.43[ 100 5 | 16 Hos 49 §20 59 M20x40 6313C3 6313C3
- 45 30 22 -- 225M 3 356 75 431 | 446 | 311 | 400 | 149+4.0 | 225 §.| 28 | 553 |185 *0"”| M50x15 | 849 20 400 | 350 | 450 |8-#185| 5 60 1363 | 140+0.50| 125 | 7.5 | 18 {3 53 020 64 | M20x40 6313 6313
55 | - | - | - | - | 250M | 3 | 406 | 80 | 484 | 485 | 349 | 445 | 168240 | 250 .| 30 | 609 | 24 2| M63x15 | 931 | 22 | 500 | 350 | 550 | 8-0185| 5 | 60 1338 | 140£050| 125 | 75 | 18 9on | 53 32 | 64 | M20x40 | 6314C3 6314C3
- 55 37 30 -- 250M 3 406 80 484 | 485 | 349 | 445 | 168+4.0 [ 250 §.| 30 | 609 | 24 *9%| M63x15 | 931 22 500 [ 350 | 550 | 8-®#185| 5 60 106% | 140050 125 [ 75 | 18 Huis 53 D 64 M20x40 6314 6314
75 = = = = 280S 3 457 85 542 | 547 | 368 | 485 | 190+4.0 | 280 §.| 35 | 668 | 24*0°?| M63x15 | 981.5| 22 500 | 450 [ 550 | 8-®185| 5 65 1060 |140+£0.50( 125 [ 7.5 | 18 i 58 020 69 M20x40 6314C3 6314C3
- 75 45 37 - 280S 3 457 85 542 | 547 | 368 | 485 | 190+4.0 | 280 §.| 35 | 668 | 24*%°’| M63x15 |1004.5] 22 500 | 450 [ 550 | 8-®185| 5 75 1668 | 140050 125 [ 7.5 | 20 §ous | 67.5 820 79 M20x40 6317 6317
9 | - | - | - | - | 280M | 3 | 457 | 85 | 542 | 547 | 419 | 536 | 190240 | 280 O | 35 | 668 | 24 7| M63x15 10825 22 | 500 | 450 | 550 | 8-0185| 5 | 65 0% |140£050| 125 | 75 | 18 8 | 58 8, | 69 | M20x40 | 6314C3 6314C3
= 90 55 45 = 280M 3 457 85 542 | 547 | 419 | 536 | 190+4.0 | 280 8. | 35 668 | 24 *9%2| M63x15 [10555| 22 500 | 450 | 550 [8-d185| 5 75 1000 1140+ 050 125 | 7.5 | 20 8, | 675 94 79 M20x40 6317 6317
110 -- -- -- -- 3158 3 508 | 120 | 630 | 620 | 406 | 570 | 216+4.0 | 315 §.| 45 | 875 | 28*%°?| M63x15 | 1185 | 22 600 [ 550 | 660 | 8-d24 6 65 106% |140£0.50( 125 [ 75 | 18 Huis 58 0.0 69 M20x40 6317C3 6317C3
= 110 75 55 45 3158 3 508 | 120 | 630 | 620 | 406 | 570 | 216+4.0 | 315 §.| 45 | 875 | 28*%"?| M63x15 | 1215 | 22 600 | 550 [ 660 | 8-d24 6 80 156% | 170+ 0.50( 160 5 | 22 §os 71 8 85 M20x40 [ NU319C3 6319
132 -- -- - - 315M 3 508 | 120 | 630 | 620 | 457 | 680 | 216+4.0 | 315 §.| 45 | 875 | 28*}¥| M63x15 | 1295 | 22 600 | 550 [ 660 | 8-d24 6 65 1001 | 140+0.50| 125 | 7.5 | 18 §ops 58 020 69 M20x40 6317C3 6317C3
- 132 90 75 55 315M 3 508 | 120 | 630 | 620 | 457 | 680 | 216+4.0 | 315 9. 45 | 875 | 28*%%| M63x15 | 1825 | 22 600 | 550 | 660 | 8-d24 6 80 :38% | 170+ 0.50| 160 5 | 22 §os 71 320 85 M20x40 [ NU319C3 6319
160 -- -- - -- 315L1 3 508 | 120 | 630 | 620 | 508 | 680 | 216+4.0 | 315 8. | 45 875 | 28*9%2| M63x15 | 1295 | 22 600 | 550 | 660 | 8-124 6 65 1000 1140+ 050 125 | 7.5 | 18 94 58 0.0 69 M20x40 6317C3 6317C3
200 -- -- - -- 315L.2 3 508 | 120 | 630 | 620 | 508 | 680 | 216+4.0 | 315 §.| 45 | 875 | 28*%°?| M63x15 | 1295 | 22 600 [ 550 | 660 | 8-d24 6 65 3000 |140+050| 125 | 7.5 | 18 §o3 58 020 69 M20x40 6317C3 6317C3
- 160 | 110 90 75 315L1 3 508 | 120 | 630 | 620 | 508 | 680 | 216+4.0 | 315 §.| 45 | 875 | 28'%""| M63x15 | 1325 | 22 600 | 550 [ 660 | 8-d24 6 80 166% | 170+ 0.50( 160 5 | 22 §os 71 82 85 M20x40 [ NU319C3 6319
-- 200 | 132 | 110 90 315L.2 3 508 | 120 | 630 | 620 | 508 | 680 | 216+4.0 | 315 §.| 45 | 875 | 28*}¥| M63x15 | 1825 | 22 600 | 550 [ 660 | 8-d24 6 80 1364 | 170+ 0.50| 160 5 | 22 s 71 82 85 M20x40 [ NU319C3 6319
250 -- -- - -- 355M 3 610 | 116 | 730 | 710 | 560 | 750 | 254+4.0 | 355 9. | 52 | 1005 [ 28*%%| M75x15 | 1500 [ 25 740 | 680 | 800 | 8-024 6 75 1089 1140+ 050 125 | 7.5 | 20 9o, | 67.5 920 | 79.5 | M20x40 6319C3 6319C3
= 250 = = = 355M 3 610 | 116 | 730 | 710 | 560 | 750 | 254+4.0 | 355 8. 52 | 1005 [ 28*%%| M75x15 | 1530 [ 25 740 | 680 | 800 | 8-d24 6 95 1005 | 170+ 0.50| 160 5 | 25 o 86 0, | 100 | M24x48 | NU322C3 6322
= = 160 | 132 | 110 | 355M1 3 610 | 116 [ 730 | 710 | 560 | 750 | 254+4.0 | 355 §.| 52 | 1005 | 28*%°?| M75x15 | 1530 | 25 740 | 680 [ 800 | 8-d24 6 95 106% | 170+ 0.50( 160 5 | 25 §os2 86 0,0 | 100 | M24x48 | NU322C3 6322
- - 200 [ 160 | 132 | 355M2 3 610 | 116 | 730 | 710 | 560 | 750 | 254+4.0 | 355 §.| 52 | 1005 | 28*%*?| M75x15 | 1530 | 25 740 | 680 | 800 | 8-®24 6 95 1665 | 170+ 0.50( 160 5 | 25 §os2 86 0,0 | 100 | M24x48 | NU322C3 6322
315 | - | - | - | - | 355L | 3 | 610 | 116 | 730 | 710 | 630 | 750 | 254240 | 355 O.| 52 | 1005 | 28 7| M75x15 | 1500 | 25 | 740 | 680 | 800 | 8024 | 6 | 75 %% |140£050| 125 | 75 | 20 8u, | 67.5 8, | 795 | M20x40 | 6319C3 6319C3
= 315 | 250 | 200 | 160 355L 3 610 | 116 | 730 | 710 | 630 | 750 | 254+4.0 | 355 9. 52 | 1005 [ 28*%%| M75x15 | 1500 [ 25 740 | 680 | 800 | 8-024 6 95 15%% | 170+ 0.50| 160 5 25 o2 86 .0, | 100 | M24x48 NU322C3 6322




AEUV 75| = A5

EEIRIMP he LB T I (2224 755 IMBS)

=N ] |

N f i o AP .
o . . f s ir T ag -
1 * s "'.‘:‘-.}_'_' = E ", | 1 = u ::f' ) A J.:,}‘ ] =
G . , /0 .
! ! ] DH 1
Bl FIG.1 K2 FIG.2 B3 FIG.3 4 FIG.4
%4 Table4 #{i:mm Dimensions in mm
IR Output (kW) HUES 5 i Shaft Extension B Bearings
Fame | FIG.| AC | AD | HF KK LA |ta] m N P s T
2| 4| 6P| 8P| 1P| No | Mo D E ED | EF F G GA DH WiE DE | E9RENG ODE
0.75 | 0.55 | 0.37 | 0.18 - 80M1 1 155 145 200 M20x1.5 284 12 12 12 165 130 200 4-012 a5 19 308 40+ 0.31 32 4 6 S0 | 155 910 | 215 M6x12 620427 6204272
11 | 0.75 | 055 | 0.25 = 80M2 1 155 145 200 M20x1.5 284 12 12 12 165 130 200 4-012 3'5) 19 #3992 40+0.31 32 4 ® 8 || 138 B 215 M6x12 620427 620427
15 11 0.75 | 0.37 -- 90S 1 175 155 200 M20x1.5 319 12 12 12 165 130 200 4-012 35 24 75009 50+0.31 40 5 8 Juss 20 920 27 M8x16 620522 6205272
2.2 15 11 | 055 - 90L 1 175 155 200 M20x1.5 344 12 12 12 165 130 200 4-012 35 24 5009 50+ 0.31 40 5 8 Duss 20 920 27 M8x16 620527 6205272
3 22 15 0.75 - 100L1 2 195 169 140 M20x1.5 369 15 15 15 215 180 250 4-014.5 4 28 0% 60 + 0.37 50 5 8 Jos6 24 G 31 M10x20 620622 6206272
3 . 11 | - | 00,2 | 2 | 195 | 160 | 140 | M20x15 | 369 15 15 15 | 215 | 180 | 250 | 40145 | 4 28798 | 60£037 | 50 5 8 S | 24 9% | 3L | M10x20 620622 620622
4 4 22 15 - 112M 2 219 190 140 M25x1.5 398 15 15 15 215 180 250 4-014.5 4 28 70009 60 +0.37 50 5 8 96 24 B 31 M10x20 620622 620622
55 [ o | & | 22 |_—_| 1321 | 2 | 260 | 210 | 140 | Mi25<5 | 462 | 16 | 16 | 16 | 265 | 230 | 300 | 40145 | 4 | senpgr | 8ox0ar | 70 5 | 10 0w | 33 0 | 41 | Mi2x24 | 620822 620822
75 — | 1322 | 2 | 260 | 210 | 140 | M25x15 | 462 | 16 | 16 | 16 | 265 | 230 | 300 | 40145 | 4 | 3813 | 80037 | 70 5 | 10 0w | 33 0 | 41 | MI2x24 | 620827 620827
SR S 5 | @M1 | 2 | 260 | 210 | 178 | M25x15 | 500 | 16 | 16 | 16 | 265 | 230 | 300 | 40145 | 4 | 38133 | 80037 | 70 5 | 10 90 | 33 9» | 4L | M12x24 | 620822 620822
- i 55 - 132mM2 2 260 210 178 M25x1.5 500 16 16 16 265 230 300 4-014.5 4 &8 i 80+ 0.37 70 5] 10 Suss 33 9w 41 M12x24 620822 620822
11 1 75 4 -- 160M1 3 314 248 210 M32x1.5 611 16 16 16 300 250 350 4-018.5 5 4230018 110+ 0.43 100 5 12 9 oa3 37 O 45 M16x32 620927 6209272
15 55 - 160M2 3 314 248 210 M32x1.5 611 16 16 16 300 250 350 4-018.5 5 42 15058 110+ 043 100 5 12 B3 37 82 45 M16x32 620927 6209272
185 15 11 75 - 160L 3 314 248 254 M32x1.5 655 16 16 16 300 250 350 4-018.5 5 42 1555 110+ 0.43 100 5 12 B3 37 82 45 M16x32 620922 620922
2 | - | - | = | - | 180M | 3 | 355 | 268 | 241 | M32x15 | 690 | 16 | 16 | 16 | 300 | 250 | 350 | 40185 | 5 | 48398 | 110£043 | 100 | 5 | 14 S0 | 425 9 | 515 | M16x32 | 63112ZC3 | 63112ZC3
- 185 - - - 180M 3 355 268 241 M32x1.5 690 16 16 16 300 250 350 4-018.5 5 48 %8 110+ 0.43 100 5] 14 §uas | 425 G 515 M16x32 631127 631127
= 22 15 11 = 180L 3 355 268 279 M32x1.5 728 16 16 16 300 250 350 4-018.5 5 48 30018 110+ 0.43 100 5 14 S043 | 425 9 51.5 M16x32 631127 631127
20 | - | - | - | — | 2000z | 3 | 298 | 304 | 305 | M50x15 | 782 | 17 | 17 | 17 | 350 | 300 | 400 | 40185 | 5 | 551308 | 110:043 | 100 | 5 | 16 805 | 49 9 | 59 | M20x40 6312C3 6312C3
37 -- -- -- -- 200L2 3 398 304 305 M50x1.5 782 17 17 17 350 300 400 4-018.5 5 55 1000 110+ 0.43 100 5 16 o4z 49 G2 59 M20x40 6312C3 6312C3
— | 5 1285 o |- 20001 | 3 | 398 | 304 | 305 | M50xi5 | 782 | 17 | 17 | 17 | 350 | 300 | 400 | #0165 | 5 | Sougay | 1102043 | 100 | 5 | 1680 | 49 5 | 59 | M20xd0 6312 6312
-- 22 -- 200L2 3 398 304 305 M50x1.5 782 17 17 17 350 300 400 4-018.5 5 55 1350 110+ 0.43 100 5 16 9oa3 49 1§, 59 M20x40 6312 6312
— | 37 | - | 185| - | 2255 | 4 | 446 | 328 | 286 | M50x15 | 824 | 20 | 20 | 20 | 400 | 350 | 450 | 8®185 | 5 | 60332 | 140£050 | 125 | 7.5 | 18 00w | 53 % | 64 | M20x40 6313 6313
45 -- -- - - 225M 4 446 328 311 M50x1.5 819 20 20 20 400 350 450 8-018.5 5 55 1568 110+ 0.43 100 5 16 Boss 49 0x 59 M20x40 6313C3 6313C3
| 45 | 30 | 22 | - | 225M | 4 | 446 | 328 | 311 | MB50x15 | 849 | 20 | 20 | 20 | 400 | 350 | 450 | 80185 | 5 | 60 3% | 1402050 | 125 | 75 | 18 0o | 53 5 | 64 | M20x40 6313 6313
55 -- - - -- 250M 4 485 359 349 M63x1.5 931 22 22 22 500 350 550 8-018.5 5 60 :59% 140 + 0.50 125 75 | 18 G 53 O 64 M20x40 6314C3 6314C3
-- 55 37 30 -- 250M 4 485 359 349 M63x1.5 931 22 22 22 500 350 550 8-018.5 5 60 10050 140+ 0.50 125 75 | 18 Jou3 53 0 64 M20x40 6314 6314
75 - - == - 280S 4 547 388 368 M63x1.5 981.5 22 22 22 500 450 550 8-018.5 5 65 1568 140+ 0.50 125 75 | 18 fus 58 020 69 M20x40 6314C3 6314C3
| 75 | 4 | 37 | - | 2805 | 4 | 547 | 388 | 368 | M63x15 | 10045| 22 | 22 | 22 | 500 | 450 | 550 | 80185 | 5 | 7538 | 1402050 | 125 | 75 | 20 Oom | 675 5 | 79 | M20x40 6317 6317
0 | - | - | - | - | 280M | 4 | 547 | 388 | 419 | Me3x15 | 10325| 22 | 22 | 22 | 500 | 450 | 550 | 80185 | 5 | 65398 | 140£050 | 125 | 75 | 18 S50 | 58 8w | 69 | M20x40 | 6314C3 6314C3
- 90 55 45 - 280M 4 547 388 419 M63x1.5 | 1055.5 22 22 22 500 450 550 8-018.5 5 13 140 + 0.50 125 75 | 20 §us, | 675 0 79 M20x40 6317 6317
110 - -- -- - 315S 4 620 560 406 M63x1.5 1185 22 22 22 600 550 660 8-024 6 65 1000 140+ 0.50 125 75 | 18 fus 58 020 69 M20x40 6317C3 6317C3
— | 10| 75 | 55 | 45 | 3155 | 4 | 620 | 560 | 406 | Me3x15 | 1215 | 22 | 22 | 22 | 600 | 550 | 660 | 8024 6 | 80136 | 1702050 | 160 | 5 | 22 S | 71 4w | 85 | M20x40 | NU319C3 6319
132 -- -- -- -- 315M 4 620 560 457 M63x1.5 1295 22 22 22 600 550 660 8-024 6 65 1003 140 + 0.50 125 75 | 18 §us 58 920 69 M20x40 6317C3 6317C3
T [ 32| 90 | 75| 55 | 315M | 4 | 620 | 560 | 457 | Me3x15 | 1325 | 22 | 22 | 22 | 600 | 550 | 660 | 8024 6 | 801359 | 1702050 | 160 | 5 | 22 e | 7L 9» | 85 | M20x40 | NU319C3 6319
160 -- -- -- -- 315L1 4 620 560 508 M63x1.5 1295 22 22 22 600 550 660 8-024 6 65 10050 140+ 0.50 125 75 | 18 Juus 58 02 69 M20x40 6317C3 6317C3
200 - -- - - 315L2 4 620 560 508 M63x1.5 1295 22 22 22 600 550 660 8-024 6 65 156% 140+ 0.50 125 75 | 18 o 58 020 69 M20x40 6317C3 6317C3
— | 160 | 110 | 9 | 75 | 315LL | 4 | 620 | 560 | 508 | Me3x15 | 1325 | 22 | 22 | 22 | 600 | 550 | 660 | 8024 6 | 801360 | 1702050 | 160 | 5 | 22 3w | 7L 4w | 85 | M20x40 | NU319C3 6319
| 200 | 132 | 110 | 90 | 3152 | 4 | 620 | 560 | 508 | Me3x15 | 1325 | 22 | 22 | 22 | 600 | 550 | 660 | 8024 6 | 80055 | 170050 | 160 | 5 | 22 %e | 7L 9w | 85 | M20x40 | NU319C3 6319
250 -- - - -- 355M 4 710 650 560 M75x1.5 1500 25 25 25 740 680 800 8-024 6 13 140 + 0.50 125 75 | 20 §uso | 675 94 79.5 M20x40 6319C3 6319C3
= 250 = = = 355M 4 710 650 560 M75x1.5 1530 25 25 25 740 680 800 8-024 6 95 1053 170+ 0.50 160 5 75 S 86 .00 100 M24x48 NU322C3 6322
— | - | 160 | 132 | 110 | 355M1 | 4 | 710 | 650 | 560 | M75x15 | 1530 | 25 | 25 | 25 | 740 | 680 | 800 | 824 6 | 951355 | 1702050 | 160 | 5 | 25 e | 86 4w | 100 | M24xa8 | NU322C3 6322
— | - | 200 | 160 | 132 | 355M2 | 4 | 710 | 650 | 560 | M75x15 | 1530 | 25 | 25 | 25 | 740 | 680 | 800 | 8024 6 | 951365 | 1702050 | 160 | 5 | 25 ew | 86 4w | 100 | M24x48 | NU322C3 6322
35 | - | - | — | - | 355L | 4 | 710 | 650 | 630 | M75x15 | 1500 | 25 | 25 | 25 | 740 | 680 | 800 | 824 6 | 751359 | 140£050 | 125 | 7.5 | 20 9o | 675 9 | 795 | M20x40 | 6319C3 6319C3
- 315 250 200 160 355L 4 710 650 630 M75x1.5 1500 25 25 25 740 680 800 8-024 6 O5p 00 170 + 0.50 160 5 25 Sz 86 .02 100 M24x48 NU322C3 6322




HEAD OFFICE

Teco Hectr¢ & Ma chinery Co. Ltd
49 Wu Kong 6 Rd.

Wu-Ku Indust ral Park

Taipei County 248

Taiwan ROC

Tel: +886 2 8990 1111

WWW .teco.com.tw

UNITED STATES
Teco-West hghous e Motor Company
PO Box 227 (78680-0277)
5100 N.IH35
Round Rock Texas 7868 1US A
Tel: 41512 255 4141
+1800 873 8326
www .tecowest hghous e.com

CANADA

Teco-West hghous e

Motors Inc. (Canada)
18060-109th Ave

Edmonton, Alberta T5S 2K2 Canada
Tel: 41780 444 8933

Fax: (780) 486-4575

24 HR Emergency Pager:
(780) 419-7734

Tol IFree: 800-66 14023

Fax Tol IFree: 888 -US E-TWMI
wwv .twmi.com

UNITED KINGDOM

Teco Hectr¢ Europe Ltd

Teco Bui tling Ma rshal IStevens Way
Trafford Park Man chester

M17 PP England Uni &d Kingdom
Tel: +44 161877 8025

waww .teco.co.uk

GERMANY

Teco West hghous e
Germany GmbH

Ma rktst mBBe 69

37441Bad Sachsa Germany
Tel: +49 5523 95340

Fax: +49 5523 953424
www .teco-west hnghous e.de

SPAIN
Teco West nghous e Spain
C/Sancho Déavi & 8 40f
28028 Na dr d Spain

Tel: 434 91725 1718

AUSTRALIA

Sydney Office

TecoAust mal @ Pty Ltd.
335-337 Woodpark Road

Smi hfield NSW 2164 Austral &
Tel: +612 9765 818

W .teco.com.au

MELBOURNE OFFI CE
TecoAust ml @ Pty Ltd.

16 Longs taf fRoad,
Bayswater VIC 3153 Austal &
Tel: 4613 9720 441

BRISBANE OFFICE

TecoAust ml & Pty. Ltd.

50 Murdoch Circui t

Acacia Ridge QLD 410 Austal a
Tel: 4617 3373 9600

PERTH OFFICE

TecoAust ml @ Pty Ltd.

28 Belgravia Street,
Belmont WA 6104 Austral a
Tel : 4618 9479 4879

NEW ZEALAND

Teco Newzealand Pty Ltd.

Uni t3 477 Great South Road
Penrose Auckland New Zealand
Tel: +64 9 526 8480

HONG KONG

Tecoson Indust ral Development
(HK) Co Ltd.

Rm 3712 Hong Kong Plaza
186-191Connaught Rd West
Hong Kong

Tel: +852 2858 3220

JAPAN

Sankyo Co., Ltd.

26th fl. Wor d Trading Center Bldg.
2-4-1Hamamatsucho Minato-ku
Tokyo Japan 105-6126

Tel: +813 3435 9729

Fax: +813 3578 8381

SINGAPORE
Teco Hectr& & Ma chinery (PTE) Ltd.
18 Chin Bee Dr ve

Singapore 619865

Tel: 465 6 265 4622

WA .teco.com.sg

INDONESIA

P.T. Teco Mul tguna Elekt 10

JL Bandengan Utara No. 83/13
Jakarta Utara-144 00 Indonesia
Tel: 462 21662 220 1

MALAYSIA

STE Ma rket hg SDN BHD

6 Jalan Fi ma 2 Kawasan Per ind.
Tebrau 1

8100 Johor Bahru Johor Ma laysia
Tel: +60 7 354 8008

THA ILAND

Teco Hectr¢ & Ma chinery
(Thai) Co. Ltd.

128/1So0i Watsr vareenoi

Moo 7 Bangna-Trad Road Km 18
Bangchalong Bangplee
Samuthprakarn 10540 Thai &nd
Tel: +662 337 131120

CHINA

Shanghai Office

Rm 321Bui ling No.6 Lane 1279
Zhongshan

W. Rd. Shanghai. P.R.C.

Tel: +86 21516 8255

Fax: +86 216278 8761

Wuxi Teco Electr¢ & Ma chinery Co.,
Ltd.

No. 9 Changjiang S. Rd. Wuxi JiangSu,
China

Tel: 486 510 534 2005
Fax: +86 510 534 2001
WAWW wuxiteco.com

Jiangxi Teco Electr
Ltd
1028 Jinggangshan
Jiang Xi, China

Tel: +86 791641 188
Fax: 486 79164142

Suzhou Teco Hect
Ma chinery Co., Ltd
No. 1Changjiang W.
Indust ral Park Liu
Taicang Ci y, Suzho
Jiangsu Province, P
Tel: +86 512 53619
Fax: 486 512 6




